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OGAHDIIIA SHIHHE ABAIE HHIAY
40,000,000 *1.08/100 432
OYHEIDIND SS8 U +TFEN 2129
00,000,000 *0.72/100 2,160
OEIHEEH S99 L B2 A
300, 000,000€ x0.72/10 2,160
OGS MHDIIA SHAA JHE =AY
50,000,000 *1.08/100 540
OGAHIDIINA JI9d HIIZ2 M2l 89
60,000,000 *0.90/100 540
OSMHDIIA WHHE 21| HEAE &X
50,000,000 *1.08/100 540
OGAMHDIIITE &Y Y SHEHZA
200,000,000€ =x0.72/100 1,440
OGAHDIIIA s22AH2 2288 ZA
600,000,000€ x0.63/100 3,780
ESEEIAAEH =AY 137,000 277,000 A 140,000
201 et | 32,000 32,000 0
01 AFR 2t 2| bl 32,000 32,000 0
Ood&egs AE & AZE 1Y 10,000,000 10,000
OdY93, 220t 29 222 M& 22,000,000 22,000
401 Al HI L 2 0HHI 105,000 245,000 A 140,000
01 Al & H| 103,866 242,606 A 138,740
ogssst & TEE &3 24,730,000 24,730
OUHE 2HANE 34 49,460,000 49,460
OFAUNMEE WHWREAE HH &£ ZTEE= X4
29,676,000 29,676
03 Al& 20| 1,134 2,394 A 1,260
OUgEs+0 L ZEE L3
5,000,000 x1.08/100 270
OUE A 32aXH
50,000,000 *1.08/100 540
OFAUNMESE WHWREAE HH &L ZTEE= X4
30,000,000€ *1.08/100 324
oA =4 248,370 288,072 N 39,702
SFEEH 4 248,370 288,072 N 39,702
st A FH 248,370 288,072 N 39,702
101 Q124 H] 18,370 18,072 298
04 JI2ZtHIZ2 2 NEE 18,370 18,072 298
OHZAEH XN o8 66,800& 352 x5 11,690
OHIZA=EH XNd nNSsSH o2
66,800& 20 x5 6,680




SH: BAEY
M BeaE 84
ool BESH S4 (el @2)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
201 Le-2d| 200,000 0 200,000
03 A2 Z Hl 200,000 0 200,000
OHtZA=H ALK A 200,000, 000& 200,000
401 A& HIZ 2018 30,000 100,000 A70,000
01 A& HI 29,676 29,676 0
OHtZAZH ALE Hl 29,676,000 29,676
03 Al 2 THHI 324 324 0
Ot A=H HALE FH
30,000,000& *1.08/100 324
HE2IZH (2ZEHED) 19,630 17,320 2,310
JlE&dl 19,630 17,320 2,310
JlE2&l 19,630 17,320 2,310
201 -4 7,630 7,120 510
01 At 22l 7,630 7,120 510
OgBt=&H| 7,630,000 7,630
202 O4dl 7,800 7,200 600
01 = LHA YI 7,800 7,200 600
ORMSY (A, MOIU, 38 &4 S)
7,800,000 7,800
203 YR =] 4,200 3,000 1,200
04 FANSEHE=LH 4,200 3,000 1,200
OFRN2IYSF=AHI 4,200,000& 4,200




